# **International Journal of Current Advanced Research**

ISSN: O: 2319-6475, ISSN: P: 2319-6505, Impact Factor: SJIF: 6.614 Available Online at www.journalijcar.org Volume: 7| Issue: 1| Special Issue January: 2018 | Page No.109-114 DOI: http://dx.doi.org/10.24327/IJCAR

## GENERALIZED HYERS-ULAM-RASSIAS STABILITY OF A FUNCTIONAL EQUATION IN INTUITIONISTIC FUZZY NORMED SPACES

#### Sekar S<sup>1</sup> and G. Mayelvaganan<sup>2</sup>

<sup>1</sup>Department of Mathematics, Government Arts College (Autonomous), Salem, Tamilnadu <sup>2</sup>Department of Mathematics, MGR College, Hosur, Tamilnadu

#### ABSTRACT

In this paper, we investigate the problem of Hyers- Ulam-Rassias stability of the additive functional equation f(3x + y) + f(x + 3y) = 4f(x) + 4f(y) in Intuitionistic fuzzy normed spaces.

Copyright©2018 Sekar S and G. Mayelvaganan. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

## 1. Introduction and Preliminaries

In 1940, S. M. Ulam[11] raised the following question. Under what conditions does there exists an additive mapping near an approximately addition mapping? The case of approximately additive functions was solved by D. H. Hyers[4] under certain assumption. In 1978, a generalized version of the theorem of Hyers for approximately linear mapping was given by Th. M. Rassias[8]. The stability concept that was introduced and investigated by Rassias is called the Hyers-Ulam-Rassias stability. During the last decades, the stability problems of several functional equations have been extensively investigated by a number of authors[[1, 2, 3, 5, 6, 7, 9]]and references therein.

In the present paper, the authors determine the stability results concerning the following additive functional equation f(3x+y) + f(x+3y) = 4f(x) + 4f(y) in intuitionistic fuzzy normed spaces(IFNS).

Here we recall some notations and basic definitions.

**Definition 1.1** A binary operation  $*:[0,1]\times[0,1] \rightarrow [0,1]$  is said to be a continuous t-norm if it satisfies the following conditions:

- \* is associative and commutative
- \* is continuous
- a \* 1 = a for all  $a \in [0,1]$
- $a * b \le c * d$  whenever  $a \le c$  and  $b \le d$  for each  $a, b, c, d \in [0, 1]$ .

**Definition 1.2** A binary operation  $\Diamond : [0,1] \times [0,1] \rightarrow [0,1]$  is said to be a continuous t-conorm if it satisfies the following conditions:

•  $\diamond$  is associative and commutative

- $\diamond$  is continuous
- $a \diamond 0 = a$  for all  $a \in [0,1]$
- $a \Diamond b \leq c \Diamond d$  whenever  $a \leq c$  and  $b \leq d$  for each  $a, b, c, d \in [0, 1]$ .

Using the above two definitions, Saadati and Park [10] introduced the concept of intuitionistic fuzzy normed spaces as follows:

**Definition 1.3** The five-tuple  $(X, \mu, \nu, *, \diamond)$  is said to be an intuitionistic fuzzy normed spaces(IFNS) if X is a vector space, \* is continuous t-norm,  $\diamond$  is a continuous t-conorm and  $\mu, \nu$  are fuzzy sets on  $X \times (0, \infty)$  satisfying the following conditions. For every  $x, y \in X$  and s, t > 0

- $\mu(x,t) + \nu(x,t) \leq 1$
- $\mu(x,t) > 0$

• 
$$\mu(x,t) = 1$$
 iff  $x = 0$   
•  $\mu(\alpha x, t) = \mu\left(x, \frac{t}{|\alpha|}\right)$  for each  $\alpha \neq 0$ 

- $\mu(x,t) * \mu(y,s) \le \mu(x+y,t+s)$
- $\mu(x,.):(0,\infty) \rightarrow [0,1]$  is continuous
- $\lim_{t\to\infty} \mu(x,t) = 1$  and  $\lim_{t\to0} \mu(x,t) = 0$
- v(x,t) < 1
- v(x,t) = 0 iff x = 0

• 
$$v(\alpha x, t) = v\left(x, \frac{t}{|\alpha|}\right)$$
 for each  $\alpha \neq 0$ 

• 
$$v(x,t) \Diamond v(y,s) \ge v(x+y,t+s)$$



RESEARCH ARTICLE

- $v(x_{..}): (0,\infty) \rightarrow [0,1]$  is continuous
- $\lim_{t\to\infty} v(x,t) = 0$  and  $\lim_{t\to0} v(x,t) = 1$ .

In this case  $(\mu, \nu)$  is called an intuitionstic fuzzy norm.

Let  $(X, \mu, \nu, *, \diamond)$  be an IFNS. Then, a sequence  $x = (x_n)$  is said to be intuitinstic fuzzy convergent to  $L \in X$  if lim  $\mu(x_n - L, t) = 1$  and  $\lim \nu(x_n - L, t) = 0$  for all t > 0. In this case we write  $x_n \to L$  as  $n \to \infty$ .

Let  $(X, \mu, \nu, *, \diamond)$  be an IFNS. Then  $x = (x_n)$  is said to be intuitinstic fuzzy Cauchy sequence if  $\lim \mu(x_{n+p} - x_n, t) = 1$ and  $\lim v(x_{n+n} - x_n, t) = 0$  for all t > 0 and p = 1, 2, ...

Let  $(X, \mu, \nu, *, \diamond)$  be an IFNS. Then  $(X, \mu, \nu, *, \diamond)$  is said to be complete if every intuitinstic fuzzy Cauchy sequence in  $(X, \mu, \nu, *, \diamond)$ in intuitinstic fuzzy convergent in  $(X, \mu, \nu, *, \diamond)$ .

#### 2. Intuitinstic Fuzzy Stability

The functional equation f(3x + y) + f(x + 3y) = 4f(x) + 4f(y)(2.1)is called an additive functional equation, since the function

$$\mu(3f(3x+y)+f(x+3y)-4f(x)-4f(y) \ge \mu'(\varphi(x,y),t), \nu(3f(3x+y)+f(x+3y)-4f(x)-4f(y) \le \nu'(\varphi(x,y),t))$$

for all t > 0 and all  $x, y \in X$ . Then there exists a unique additive mapping  $A: X \to Y$  such that

$$\mu(A(x) - f(x), t) \ge \mu'\left(\varphi(x, 0), \frac{(\alpha - 3)t}{2}\right) and$$
$$\nu(A(x) - f(x), t) \le \nu'\left(\varphi(x, 0), \frac{(\alpha - 3)t}{2}\right)$$
(2.4)

for all  $x \in X$  and all t > o.

*Proof.* Put y = 0 in(2.3). Then for all  $x \in X$  and t > 0

$$\mu \left(3^{n+1} f\left(\frac{x}{3^{n+1}}\right) - 3^n f\left(\frac{x}{3^n}\right), 3^n t\right) \ge \mu' \left(\varphi \left(\frac{x}{3^n}, 0\right), \alpha t\right) \ge \mu' \left(\varphi(x, 0), \alpha^{n+1} t\right), and$$

$$\nu \left(3^{n+1} f\left(\frac{x}{3^{n+1}}\right) - 3^n f\left(\frac{x}{3^n}\right), 3^n t\right) \le \nu' \left(\varphi \left(\frac{x}{3^n}, 0\right), \alpha t\right) \le \nu' \left(\varphi(x, 0), \alpha^{n+1} t\right).$$
Replacing t by  $\frac{t}{\alpha^{n+1}}$ , we get

f(x) = cx is its solution. Every solution of the additive functional equation is said to be an additive mapping.

We start with a generalized Hyers-Ulam-Rassias type theorem in IFNS for an additive functional equation.

# **Theorem 2.1** Let X be a linear space and let $(Z, \mu', \nu')$ be

an IFNS. Let  $\varphi: X \times X \to Z$  be a function such that for some  $\alpha > 3$ 

$$\mu'\left(\varphi\left(\frac{x}{3},0\right),t\right) \ge \mu'(\varphi(x,0),\alpha t)$$

$$\nu'\left(\varphi\left(\frac{x}{3},0\right),t\right) \ge \nu'(\varphi(x,0),\alpha t)$$
(2.2)
and

and

$$\lim_{n \to \infty} \mu' \left( 3^n \varphi \left( \frac{x}{3^n}, \frac{y}{3^n} \right), t \right) = 1$$
$$\lim_{n \to \infty} \nu' \left( 3^n \varphi \left( \frac{x}{3^n}, \frac{y}{3^n} \right), t \right) = 0$$

for all  $x, y \in X$  and t > 0.

Let  $(Y, \mu, v)$  be an intuitionstic fuzzy Banach space and let  $f: X \to Y$  be a  $\varphi$ -approximately additive mapping and that

$$\mu(f(3x) - 3f(x), t) \ge \mu'(\varphi(x, 0), t)$$
  
this gives that  
$$\mu\left(3f\left(\frac{x}{3}\right) - f(x), t\right) \ge \mu'\left(\varphi\left(\frac{x}{3}, 0\right), t\right) \ge \mu'(\varphi(x, 0), \alpha t),$$
  
$$\nu\left(3f\left(\frac{x}{3}\right) - f(x), t\right) \le \nu'\left(\varphi\left(\frac{x}{3}, 0\right), t\right) \le \nu'(\varphi(x, 0), \alpha t).$$
  
(2.5)

Replacing x by  $\frac{x}{3^n}$  in(2.5), we get

$$\mu \left( 3^{n+1} f\left(\frac{x}{3^{n+1}}\right) - 3^{n} f\left(\frac{x}{3^{n}}\right), \frac{3^{n} t}{\alpha^{n+1}} \right) \ge \mu'(\varphi(x,0), t), \text{ and} \\
\nu \left( 3^{n+1} f\left(\frac{x}{3^{n+1}}\right) - 3^{n} f\left(\frac{x}{3^{n}}\right), \frac{3^{n} t}{\alpha^{n+1}} \right) \le \nu'(\varphi(x,0), t). \tag{2.6}$$
It follows from  $3^{n} f\left(\frac{x}{3^{n}}\right) - f(x) = \sum_{j=0}^{n-1} \left( 3^{j+1} f\left(\frac{x}{3^{j+1}}\right) - 3^{j} f\left(\frac{x}{3^{j}}\right) \right) \text{ and } (2.6) \text{ that}$ 

$$\mu \left( 3^{n} f\left(\frac{x}{3^{n}}\right) - f(x), \sum_{j=0}^{n-1} \frac{3^{j} t}{\alpha^{j+1}} \right) \\
\ge \prod_{j=0}^{n-1} \mu \left( 3^{j+1} f\left(\frac{x}{3^{j+1}}\right) - 3^{j} f\left(\frac{x}{3^{j}}\right), \frac{3^{j} t}{\alpha^{j+1}} \right) \ge \mu'(\varphi(x,0), t) \text{ and}$$

$$\nu \left( 3^{n} f\left(\frac{x}{3^{n}}\right) - f(x), \sum_{j=0}^{n-1} \frac{3^{j} t}{\alpha^{j+1}} \right) \\
\le \prod_{j=0}^{n-1} \nu \left( 3^{j+1} f\left(\frac{x}{3^{j+1}}\right) - 3^{j} f\left(\frac{x}{3^{j}}\right), \frac{3^{j} t}{\alpha^{j+1}} \right) \le \nu'(\varphi(x,0), t) \tag{2.7}$$

for all  $x \in X$ , t > 0 and n > 0 where  $\prod_{j=0}^{n-1} a_j = a_1 * a_2 * \dots * a_n$ ,  $\prod_{j=0}^{n-1} b_j = b_1 \Diamond b_2 \Diamond \dots \Diamond b_n$ . By replacing x with  $\frac{x}{d}$  in (2.7) we obtain

By replacing x with 
$$\frac{1}{3^m}$$
 in(2.7), we obtain  

$$\mu \left( 3^{n+m} f\left(\frac{x}{3^{n+m}}\right) - 3^m f\left(\frac{x}{3^m}\right), \sum_{j=0}^{n-1} \frac{3^{j+m} t}{\alpha^{j+m+1}} \right) \ge \mu' \left( \varphi \left(\frac{x}{3^m}, 0\right), t \right) \ge \mu' \left( \varphi(x,0), t \right), and$$

$$\nu \left( 3^{n+m} f\left(\frac{x}{3^{n+m}}\right) - 3^m f\left(\frac{x}{3^m}\right), \sum_{j=0}^{n-1} \frac{3^{j+m} t}{\alpha^{j+m+1}} \right) \le \nu' \left( \varphi \left(\frac{x}{3^m}, 0\right), t \right) \le \nu' \left( \varphi(x,0), t \right)$$
Thus,

$$\mu \left( 3^{n+m} f\left(\frac{x}{3^{n+m}}\right) - 3^m f\left(\frac{x}{3^m}\right), \sum_{j=m}^{n+m-1} \frac{3^j t}{\alpha^{j+1}} \right) \ge \mu'(\varphi(x,0),t), and$$

$$\nu \left( 3^{n+m} f\left(\frac{x}{3^{n+m}}\right) - 3^m f\left(\frac{x}{3^m}\right), \sum_{j=m}^{n+m-1} \frac{3^j t}{\alpha^{j+1}} \right) \le \nu'(\varphi(x,0),t)$$
for all  $x \in Y$ ,  $t \ge 0$ ,  $m \ge 0$ , and  $n \ge 0$ . Hence

for all  $x \in X$ , t > 0,  $m \ge 0$  and  $n \ge 0$ . Hence

$$\mu\left(3^{n+m}f\left(\frac{x}{3^{n+m}}\right)-3^{m}f\left(\frac{x}{3^{m}}\right),t\right) \ge \mu'\left(\varphi(x,0),\frac{t}{\sum_{j=m}^{n+m-1}\frac{3^{j}t}{\alpha^{j+1}}}\right)$$

$$\nu\left(3^{n+m}f\left(\frac{x}{3^{n+m}}\right)-3^{m}f\left(\frac{x}{3^{m}}\right),t\right) \le \nu'\left(\varphi(x,0),\frac{t}{\sum_{j=m}^{n+m-1}\frac{3^{j}t}{\alpha^{j+1}}}\right)$$

$$(2.8)$$

for all  $x \in X, t > 0, m \ge 0$  and  $n \ge 0$ . Since  $\alpha > 3$  and  $\sum_{j=0}^{\infty} \left(\frac{3}{\alpha}\right) < \infty$ , the Cauchy criterion for convergence in IFNS shows

that  $3^n f\left(\frac{x}{3^n}\right)$  is a Cauchy sequence in  $(Y, \mu, \nu)$ . Since  $(Y, \mu, \nu)$  is complete, this sequence converges to some point A(x) Y. Fix x X and m=0 in (2.8)

$$, we obtain \mu \left(3^{n} f\left(\frac{x}{3^{n}}\right) - f(x), t\right) \geq \mu' \left(\varphi(x, 0), \frac{t}{\sum_{j=0}^{n-1} \frac{3^{j}}{\alpha^{j+1}}}\right) and \nu \left(3^{n} f\left(\frac{x}{3^{n}}\right) - f(x), t\right) \leq \nu' \left(\varphi(x, 0), \frac{t}{\sum_{j=0}^{n-1} \frac{3^{j}}{\alpha^{j+1}}}\right) \text{ for all } t > 0 \text{ and } t > 0$$

n > 0. Thus we obtain

$$\mu(A(x) - f(x), t) \ge \mu \left( A(x) - 3^n f\left(\frac{x}{3^n}\right), \frac{t}{2} \right) * \mu \left( 3^n f\left(\frac{x}{3^n} - f(x)\right), \frac{t}{2} \right)$$
$$\ge \mu' \left( \varphi(x, 0), \frac{t}{2\sum_{j=0}^{n-1} \frac{3^j}{\alpha^{j+1}}} \right),$$
$$\nu(A(x) - f(x), t) \le \nu \left( A(x) - 3^n f\left(\frac{x}{3^n}\right), \frac{t}{2} \right) \diamond \nu \left( 3^n f\left(\frac{x}{3^n} - f(x)\right), \frac{t}{2} \right)$$
$$\le \nu' \left( \varphi(x, 0), \frac{t}{2\sum_{j=0}^{n-1} \frac{3^j}{\alpha^{j+1}}} \right),$$

for large *n* . Taking the limit as  $n \rightarrow \infty$  and using the definition of IFNS, we get

$$\mu(A(x) - f(x), t) \ge \mu'\left(\varphi(x, 0), \frac{(\alpha - 3)t}{2}\right)$$

anc

$$\nu(A(x) - f(x), t) \le \nu'\left(\varphi(x, 0), \frac{(\alpha - 3)t}{2}\right)$$

, for all  $x \in X$ , t > 0. Replace x and y by  $\frac{x}{3^n}$  and  $\frac{y}{3^n}$ , respectively in(2.3), we have

$$\mu \left( 3^{n} f\left(\frac{3x+y}{3^{n}}\right) + 3^{n} f\left(\frac{x+3y}{3^{n}}\right) - 3^{n} f\left(\frac{4x}{3^{n}}\right) - 3^{n} f\left(\frac{4y}{3^{n}}\right) \right) \ge \mu' \left( \varphi \left(\frac{x}{3^{n}}, \frac{y}{3^{n}}\right), \frac{t}{3^{n}} \right)$$

$$= \mu \left( 2^{n} f\left(\frac{3x+y}{3^{n}}\right) + 2^{n} f\left(\frac{x+3y}{3^{n}}\right) - 2^{n} f\left(\frac{4x}{3^{n}}\right) - 2^{n} f\left(\frac{4y}{3^{n}}\right) \right) \le \mu' \left( \varphi \left(\frac{x}{3^{n}}, \frac{y}{3^{n}}\right), \frac{t}{3^{n}} \right)$$

and

$$\nu\left(3^{n}f\left(\frac{3x+y}{3^{n}}\right)+3^{n}f\left(\frac{x+3y}{3^{n}}\right)-3^{n}f\left(\frac{4x}{3^{n}}\right)-3^{n}f\left(\frac{4y}{3^{n}}\right)\right) \le \nu'\left(\varphi\left(\frac{x}{3^{n}},\frac{y}{3^{n}}\right),\frac{t}{3^{n}}\right)$$

for all  $x, y \in X, t > 0$ . Since

$$\lim_{n \to \infty} \mu' \left( 3^n \varphi \left( \frac{x}{3^n}, \frac{y}{3^n} \right), t \right) = 1,$$
$$\lim_{n \to \infty} \nu' \left( 3^n \varphi \left( \frac{x}{3^n}, \frac{y}{3^n} \right), t \right) = 0,$$

for all  $x, y \in X, t > 0$ . We notice that A satisfies (2.1). Therefore A is an additive mapping.

To prove the uniqueness of the additive mapping A, assume that there exists a additive mapping  $A': X \to Y$  which satisfies (2.4).

For fix 
$$x \in X$$
, clearly  $3^n A\left(\frac{x}{3^n}\right) = A(x)$  and  $3^n A'\left(\frac{x}{3^n}\right) = A'(x)$  for all  $n \in N$ . It follows from (2.4) that  

$$\mu(A(x) - A'(x), t) = \mu\left(3^n A\left(\frac{x}{3^n}\right) - 3^n A'\left(\frac{x}{3^n}\right), t\right)$$

$$\geq \mu\left(3^n A\left(\frac{x}{3^n}\right) - 3^n A\left(\frac{x}{3^n}\right), \frac{t}{2}\right)$$

$$* \mu\left(3^n f\left(\frac{x}{3^n}, 0\right), \frac{(\alpha - 3)t}{2 \cdot 3^n}\right)$$

$$\geq \mu'\left(\varphi(x, 0), \frac{\alpha^n(\alpha - 3)t}{2 \cdot 3^n}\right)$$

and similarly

$$\nu(A(x) - A'(x), t) \le \nu'\left(\varphi(x, 0), \frac{\alpha^n (\alpha - 3)t}{2 \cdot 3^n}\right)$$

Since  $\lim_{n\to\infty} \frac{\alpha^n (\alpha - 3)}{2 \cdot 3^n} = \infty$  as  $\alpha > 3$ , we get  $\lim_{n\to\infty} \mu' \left( \varphi(x,0), \frac{\alpha^n (\alpha - 3)t}{2 \cdot 3^n} \right) = 1$ , and  $\lim_{n\to\infty} \nu' \left( \varphi(x,0), \frac{\alpha^n (\alpha - 3)t}{2 \cdot 3^n} \right) = 0$ .

Therefore  $\mu(A(x) - A'(x), t) = 1$  and  $\nu(A(x) - A'(x), t) = 0$ , for all t > 0. Hence A(x) = A'(x). This completes the proof. In the following theorem we consider  $0 < \alpha < 3$ 

**Theorem 2.2** Let X be a linear space and let  $(Z, \mu', \nu')$  be an IFNS. Let  $\varphi: X \times X \to Z$  be a function such that for some  $0 < \alpha < 3$  $\cdots < (\alpha < 2 \times 0) < 1 > \cdots < \alpha < 1$ 

$$\mu'(\varphi(3x,0),t) \ge \mu'(\alpha\varphi(x,0),t) and$$
$$\nu'(\varphi(3x,0),t) \le \nu'(\alpha\varphi(x,0),t),$$

 $\lim_{n\to\infty} \mu'(\varphi(3^n x, 3^n y), 3^n t) = 1$  and  $\lim_{n\to\infty} \nu'(\varphi(3^n x, 3^n y), 3^n t) = 0$  for all  $x, y \in X$  and t > 0. Let  $(Y, \mu, \nu)$  be an intuitionistic fuzzy banach space and let  $f: X \to Y$  be a  $\varphi$ -approximately additive mapping in the sense that

$$\mu(3f(3x+y) + f(x+3y) - 4f(x) - 4f(y), t) \ge \mu'(\varphi(x, y), t) \text{ and } \nu(3f(3x+y) + f(x+3y) - 4f(x) - 4f(y), t) \le \nu'(\varphi(x, y), t)$$

for all  $x, y \in X$  and t > 0. Then there exists a unique additive mapping  $A: X \to Y$  such that

$$\mu(A(x) - f(x), t) \ge \mu'\left(\varphi(x, 0), \frac{(3 - \alpha)t}{2}\right) \text{ and}$$

$$\nu(A(x) - f(x), t) \le \nu'\left(\varphi(x, 0), \frac{(3 - \alpha)t}{2}\right)$$
for all  $x \in Y$  and  $t \ge 0$ 

for all  $x \in X$  and t > 0.

*Proof.* The proof of this theorem is similar to Theorem(2.1). Here we represent the sketch of proof. Put y = 0 in(2.3) we get  $\mu\left(\frac{f(3x)}{3} - f(x), t\right) \ge \mu'(\varphi(x,0), t) and$   $\nu\left(\frac{f(3x)}{3} - f(x), t\right) \le \nu'(\varphi(x,0), t),$ 

for all  $x \in X$  and t > 0. So

$$\mu\left(\frac{f(3^{n+1}x)}{3} - f(3^nx), t\right) \ge \mu'\left(\varphi(x,0), \frac{t}{\alpha^n}\right) and$$
$$\nu\left(\frac{f(3^{n+1}x)}{3} - f(3^nx), t\right) \le \nu'\left(\varphi(x,0), \frac{t}{\alpha^n}\right),$$

for all  $x \in X$  and t > 0. For each  $x \in X$ ,  $n \ge 0$ ,  $m \ge 0$  and t > 0, we deduce that

$$\mu\left(\frac{f(3^{n+m}x)}{3^{n+m}} - \frac{f(3^{m}x)}{3^{m}}, t\right) \ge \mu'\left(\varphi(x,0), \frac{t}{\sum_{j=m}^{n+m-1} \frac{\alpha^{j}}{3^{j+1}}}\right) and$$

$$\nu\left(\frac{f(3^{n+m}x)}{3^{n+m}} - \frac{f(3^{m}x)}{3^{m}}, t\right) \le \nu'\left(\varphi(x,0), \frac{t}{\sum_{j=m}^{n+m-1} \frac{\alpha^{j}}{3^{j+1}}}\right)$$
(2.9)

for all  $x \in X$ , t > 0, and  $m, n \ge 0$ . Thus,  $\left\{ \frac{f(3^n x)}{3n} \right\}$  is a Cauchy sequence in intuitionistic fuzzy Banach space. There exist a

function  $A: X \to Y$  defined by  $A(x) = \lim_{n \to \infty} \frac{f(3^n x)}{3n}$  and put m = 0 in (2.9) we obtain

$$\mu(A(x) - f(x), t) \ge \mu'\left(\varphi(x, 0), \frac{(3 - \alpha)t}{2}\right) and$$
$$\nu(A(x) - f(x), t) \le \nu'\left(\varphi(x, 0), \frac{(3 - \alpha)t}{2}\right)$$

for all  $x \in X$  and t > 0.

This completes the proof.

### References

- M.Arun Kumar, V.Arasu, N.Balaji, Fuzzy stability of a two variable quadratic functional equation, *International Journal of Mathematical Sciences Engineering Applications (IJMSEA)*, ISSN 0973-9424, Vol.5, , No.IV, pp.331-341(2011).
- [2] K. Ravi, S. Kandasamy, V. Arasu, Fuzzy versions of Hyes-Ulam-Rassias theorem of quadratic functional equation, Advances in Fuzzy Sets and Systems, ISSN 0973-421X, Vol. 8, No.2, 97-114 (2011).
- [3] A. Alotaibi and S. A Mohiuddine, On the stability of a cubic functional equation in random 2-normed spaces, *Adv.Diff. Equ.*, 39 (2012).
- [4] D. H. Hyers, *On the stability of the linear functional equation*, Proc. Natl. Acad. Sci., 27, 222-224(1941)
- [5] S. A. Mohiuddine and H. Selvi, *Stability of Pexiderized quadratic functional equation in intuitionstic fuzzy normed space*, J. Comput. Appl. Math., 235, 2137-

2146(2011).

- [6] M. Mursaleen and S.A. Mohiuddine, On the stability of cubic functional equations in intuitionstic fuzzy normed spaces, Chaos, Solitons Fractals, 42, 2997-3005(2009)
- [7] C. Park and D.Y. Shin, *Functional equations in paranormed spaces*, Adv. Diff. Equ., 123(2012). Fixed Point Theory, 11, 429–442(2011).
- [8] Th.M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc., 72, 297-300 (1978).
- [9] K. Ravi, J.M. Rassias and P. Narasimman, Stability of cubic functional eauations in fuzzy normed space, Jour. Appl.Analy. Comput., 1, 411-425(2011).
- [10] R. Saadati and J. H. Park, On the intuitionistic fuzzy topological spaces, Chaos, Solitons Fractals, 27, 3313-44(2006)
- [11] S.M. Ulam, *Problems in Modern Mathematics*, Science ed.,,John Wiley Sons: New York;(1940).